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1. Immediate settlement of a shallow foundation on soft clay (25 azilu)
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2. Settlement of a shaliow foundation on sand (25 AZLLLW)

M3BBNULY Square footing YU 4x4 ASIUNAS Ve %’mfmﬂ'ﬂqﬂ% (Net load) = 150
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No. of Layer Depth ¥ SPT "N"
(m) (tm®)
1 0.0-2.0 1.7 10
2 2.0-4.0 1.8 13
3 4.0-8.0 1.8 18
4 6.0-8.0 1.9 20
5 8.0-10.0 1.9 23

4@ 3 Conventional Retaining Wall (30 AZUUL)
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411 1) Maximum bending moment 484 Retaining wall, 2) Factors of safety #51 Sliding,

Overturning, Unz Bearing capacity
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Foundation Soil: ¢ =35° v = 1.9 tm®
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